Rzt A A FEL ¢RI 1070226

OEI B SR =5 2 SR FHEICERS S e Sk T A
<”@B R PHEAF R o HF B F T S i 106173830 F L ek 0 PIE B4 ;
S| EEAE
| o, Y4y © 10617383
WeEA: ': _ et \x Mk . —
| # % # (R M| @ " #
B HERE

TaE B %R
ME(FRA SRS —
AL =N TN

|
i
SUHHEH —F— FI\E —_m__¥

i

AR AR T TR R - R R T RE R BHF RE R A

2EABFLR M EF FRFEMAEY G FALE Y et AP E) K
PR A0120 25 O g B - o] B 1000 o b BEER - o] B 2000
Ao AESRIE L BT AR 2 A A B E A (20 A F o HEA IR TP
A o (Bl P A AT AATEL L5040 PR PR FHEER o S 2R
530 PIESHEF ¥ P4 &4 2,000 ~+30%120 ~=5,600 ~ » § EH F1p2 F
4 %% 5 5 6,000-5,600=400 ~ - )

S.AEHES BRI fep 107T# 2 1 P2 107TET® 31 P ’* Jf*&déllﬂpﬂ

ﬂ‘ 1073 6% 15 P > ﬂiﬁé\ﬂ}'%‘ﬂ/zﬁﬁ F #Vvﬂ/j’ﬁ, ’]’*:ﬁd ’l{%—»/r'
PaRFEFRFREER- R o

4 K2 FBFFAAMPAE  VEE T 2 EF Y v A5 66240 - AP T T AR

B ix 8 4 4 ES RS %—Ff“" Frie 424
http.//lms.ntpu.edu.tw/board.php?courseID=25833&f=actiVity




Rzda 8 THA ZEHET Y W 106.07.25 25T

pra ? é%@%&/%ﬁ%w
oA Bop /T
ikl %ﬁAﬁ
-‘rﬁ,ﬁv%‘:’i’rf‘%/\: (xig* i3 '*'Fl‘fwm:pi )
i W T IEEE: T v )
FU‘”i%J Ckfrftd iz e FRGEB) | JEv AR
o8 E PR B 1 OB B L R g,
A A T 847 AT tREE
;%@%Eﬁﬁﬁﬁﬁﬂ:ﬁﬁﬁ%%%ﬁiﬁﬁﬁ—%%J%W%&
7B r %
@: yH i i L B g2 L RSk A S LR
LT o N f
@5 ATE Y ¢ p g - ﬁ%om\d%iﬁ— 1,600 %
Heq @-yHR el pd L R R RS 120 %5 e
Rl B N ERTE BT
g5 peaga g5 peaga g5 ¥z

(4o mBfr- BppRist o indrogss) B E L




